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60 Questions

Que. 1 Where is the tomb of Sufi Saint Khwaja Moinuddin Chishti situated?

1. Agra
2. Delhi

3.  Ajmer
4.  Mumbai

Correct Option - 3

Que. 2 The famous 'Bibi Ka Magbara' located in Aurangabad was built by in the memory of his wife.
1. Aurangzeb
2. Jahangir
3. Akbar

4. shah jahan
Correct Option - 1

Que. 3 Kisan Rail, as proposed in the Union Budget 2020- 21, is a scheme to be launched by the Indian
Railways to:
To help in providing faster transportation facilities to the perishable products of the farmers.

1.

2. Farmers may get an opportunity to go to New Delhi.

3. There should be ease in the unionization of the farmers of India.
4. Farmers can be helped to go on pilgrimage at a subsidized rate.

Correct Option - 1

Que. 4 Eight-time Olympic gold medalist 'Usain Bolt' is associated with which of the following sports?

1. Shooting
2. Basketball
3. Track and field
4. Golf
Correct Option - 3

Que. 5 What is the tenure of the Vice President of India?
1. three year
2. Five year
3. four year
4. two year
Correct Option - 2

Que. 6 'The Race of My Life' is the autobiography of which player?
1. Narayan Karthikeyan
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2. PTUsha

3. Milkha Singh

4. Dhyanchand
Correct Option - 3

Que. 7 What is the type of Indian political system?
1. monarchy
2. dictatorship
3. communism
4. Democracy
Correct Option - 4

Que. 8 On 13 April 1919, people gathered at Jallianwala Bagh to protest against?
1. Rowlatt Act
2. Prohibition of Sati and Female Infanticide Act (Prohibition of Sati and Female Infanticide Act)
3.  Regulating Act
4. Communal Award Act (Communal Award Act)

Correct Option - 1

Que. 9 Who regulates and controls the securities market in India?
1. Reserve Bank of India
2. world Bank
3. international monetary fund
4.  Securities and Exchange Board of India

Correct Option - 4

Que. 10  Which of the following national movement is also known as 'August Revolution'?
1. Khilafat movement
2. Swaraj Movement
3. Quit India Movement
4. Civil disobedience movement
Correct Option - 3

Que. 11  Aravalli mountain range, also known as 'Aravalli Range', is mainly located in which of the following
states?

1. Andra Pradesh

2. Odisha

3. Rajasthan

4. Chhattisgarh
Correct Option - 3

What is the normal average temperature of the human body?
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Que. 12 39 °C

2. 37°C
3. 28°C
4. 33°C

Correct Option - 2

Que. 13 Which of the following is the lightest gas?
1. helium
2. oxygen
3. nitrogen
4. hydrogen
Correct Option - 4

Que. 14 When was the National Emblem adopted by the Government of India?
1. August 15, 1950
2. January 26, 1950
3. March 23, 1950
4. October 2, 1950
Correct Option - 2

Que. 15 Cholera disease is caused by
1. bacteria
2. fungus
3. protozoa
4. Virus
Correct Option - 1

Que. 16  1£200% of 108 = x, then find the value of y/x .

1. 18
2. 216
3. 16

4. 6

Correct Option - 4

Que. 17 Ram and Shyam together can finish a piece of work in 12 days. Ram alone can finish the same work in
18 days. In how many days can Shyam alone finish the same work?

1. 40 days
2. 25 days
3. 30 days
4. 36 days

Correct Option - 4
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Que. 18 The speed of 180 km/hr is equal to which of the following speeds?

1. 10 m/s
2. 50m/s
3. Sm/s

4. 180000 m/s
Correct Option - 2

Que. 19  Which is the smallest four digit number which is exactly divisible by 8, 24 and 34?
1. 1026

2. 1224
3. 1148
4. 1382

Correct Option - 2

Que. 20 A boy goes to school at a speed of 10 km/hr. He comes back with a speed of 15 km/hr. His average
speed for the whole journey is:

1. 12.5 km/hr
2. 14 km/hr
3. 12 km/hr
4. 13 km/hr

Correct Option - 3

Que. 21 The ratio of boys to girls among 1080 students of a school is 5 : 4. Ten boys dropped out of school as
their families shifted to other states. How many girls should be admitted to the school so that the ratio

becomes 1 : 1?

1. 110
2. 10

3. 130
4. 120

Correct Option - 1

Que. 22 What is the average of first 5 positive even numbers?

1. 4
2. 3
3. 6
4. 5

Correct Option - 3

Que. 23 In avillage, the % majority of the total population was illiterate. If the number of illiterate persons was
1980, then what was the total population?
1. 8910
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2. 6930

3. 9800

4. 4950
Correct Option - 1

Que. 24 Ifthe selling price of an article exceeds its cost price by Rs. 20, and its cost price is Rs. 250, then what
will be the profit percentage?

I. 8%

2. 12.5%
3. 10%
4. 5%

Correct Option - 1

Que. 25 What is 50% of 50% equal to (in decimal)?

1. 0.025
2. 025

3. 1.025

4. 1

Correct Option - 2

Que. 26  Select the option which is related to the third figure in the same way as the second figure is related to

the first figure.
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Correct Option - 4
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Que. 27  Select the option that is related to the third figure in the same way as the second figure is related to the
first figure.

D Cl.

©

(D]

D

)
=
.

Correct Option - 3

Que. 28
I. 9-11-20-2
2. 10-12-22-3
3. 7-9-20-1
4, 8-10-21-2

Correct Option - 4

In a certain code language, RINA is coded as '19 - 10 - 15 - 2' and JAYA is coded as '11 -2 - 26 - 2'.
How will GITA be coded in that code language?

Which letter will replace the question mark (?) in the given matrix?

Que. 29
E I N
H M S
K Q ?

I. X

2. W

3. Y

4. Z

Correct Option - 1
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Que. 30 Select the option that should replace the question mark (?) and complete the figure series given below.

O

O?

O O Ol O
@ |'® |®] @F

Correct Option - 1

Que. 31 There are four friends named Shikha, Deepali, Anjali and Sonika. Deepali is neither as tall as Anjali
nor as short as Shikha. Sonika is shorter than Deepali but taller than Shikha. Which of these girls is the

tallest?
1. Shikha
2. Anjali
3. Deepali
4. Sonika

Correct Option - 2

Que. 32 Assuming that the opposite face has the same design, which option figure can be formed by opening
the given box?
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Correct Option - 4

Que. 33 Mohit, Ananya, Raju, Priya, Navya and Kapil are six persons in a family. One of them is an Inspector,
one is a Clerk and one is a Professor. Ananya and Priya are unmarried and unemployed women. No
female is clerk or inspector. In the family, Raju is the only child. Navya is the wife of Mohit and Kapil is the
father of Mohit.

Who is the professor in the family?

1. Navya
2.  Mohit
3. Kapil
4. Priya

Correct Option - 1

Que. 34 Arrange the following words in a meaningful order and choose the most appropriate sequence.
1. World

2. Village

3. State

4. District

5. Continent

6. Country
1. 2,3,4,6,51
2. 2,4,3,6,5,1
3. 2,4,3,5,6,1
4. 2,4,6,3,5,1

Correct Option - 2

Que. 35 Select the figure which can come in place of the question mark (?) in the given series.
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1$/&]-]
%)
3. ]
|+ % $|
&
4. —
$
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Correct Option - 1

Que. 36 A man said, "P is the brother of the son of Q's son". How is P related to Q?
1. Brother

2.  Son
3. Grandson
4. Nephew

Correct Option - 3

Que. 37 Which letter will come in place of the question mark (?) in the given letter series?
B’ E’ J’ Q’ ?

1.
2.
3

x < H

4. Z
Correct Option - 4

Que. 38 Seven persons F, P, Q, T, J, S and L are sitting around a circular table facing the centre. T sits second to
the right of P, but F does not sit next to P. L sits immediate right of S. Q sits between P and L.

Who sits immediate left of T?

I. L
2. F
3. J
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4. S
Correct Option - 3

Que. 39 In a certain code language, 'CHAPTER' is written as 'RAHPETC'. How will 'EXPLAIN' be written in
that code language?

1. NPLXAIE
2. NPLXIAE
3. NPXILAE
4. NPXLIAE

Correct Option - 4

Que. 40 Select the term that will come in place of the question mark (?) in the following series.
ZA,YB, WD, TG, ?

1. PK
2. OL
3. PJ

4. QJ

Correct Option - 1

Que. 41 Choose the INCORRECTLY spelt word from the given options.
1. Attendance
2. Schedule
3. Transperant
4. Definition
Correct Option - 3

Que. 42 Choose the most appropriate option to fill in the blank.
My brother was to join the army after seeing a movie on the life of soldiers.

1. improved

2. inspired

3. involved

4. impressed
Correct Option - 2

Que. 43 Identify the segment in the sentence which contains a grammatical error.
After I had eaten / my lunch, / I listened / to music for while.

1. After I had eaten
2.  my lunch,

3. Ilistened

4. to music for while.

Correct Option - 4
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Que. 44 Select the most appropriate SYNONYM of the given word.
SELFLESS

1. helpful

2. self-centred

3. unkind

4. proud
Correct Option - 1

Que. 45 Select the most appropriate SYNONYM of the given word.

ROTTEN
1. fresh
2.  pure
3. nice
4. stale

Correct Option - 4

Que. 46 The sentences A, B, C, and D are given below when properly sequenced, form a coherent
paragraph. Choose the most logical order of sentences from among the given options to construct
a coherent paragraph.
A. Within a few minutes, we had booked a cab and were soon on our way to the zoo.
B. After reaching the place, we bought the tickets and waited for the guard at the gate to let us in.
C. As they wanted to be taken out, we decided to take them to the zoo.
D. It was Saturday and my sister’s two young children were at our house.

1. B,A,D,C
2. D,C,A,B
3. A,D,B,C
4. C,D,AB

Correct Option - 2

Que. 47 Choose the INCORRECTLY spelt word from the given options.

1. Excel
2. Marvel
3. Parallel
4.  Quarell

Correct Option - 4

Que. 48 Identify the segment in the sentence which contains a grammatical error.
Shreya has been waiting / in the queue / to pay the electricity bill / since two hours.

1. since two hours.

2. to pay the electricity bill

3. inthe queue

4. Shreya has been waiting
Correct Option - 1
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Que. 49 The sentences A, B, C, and D are given below, when properly sequenced, form a coherent
paragraph. Choose the most logical order of sentences from among the given options to construct
a coherent paragraph.

A. One day, a crocodile came out of the river and crawled up to the tree.

B. Once there lived a monkey on a rose apple tree that grew on the banks of a river.

C. The kind monkey offered him some of the delicious rose apples.

D. He told the monkey that he had travelled a long distance in search of food.
A,C,B,D
B,A,D,C
C,D,A,B
B,A,C,D

1.
2.
3.

4,

Correct Option - 2

Que. 50 Choose the most appropriate option to fill in the blank.

1.
2.
3

4.

We all know that it is to live without air and water.
immature
indifferent
inadequate

impossible

Correct Option - 4

Que. 51 S| Hg ! Rl § AT & foIU T Ve 3|

1.
2.

3.
4.

feie
REI]

FER
GEIS]

Correct Option - 2

Que.52 '3fi@ A Feifid PHH-T1 HeTaRT Tel el 22

1.
2.
3.
4.

3l | Feh
3l H g
3Gl BT U & ST

Correct Option - 2

Que.53 "B T B TIHRIET 3~ TR T " a1 H HIgaTadh U3l 8
1.

S

g
R}
TXHRIEC
T
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Correct Option - 3

Que. 54 Tfgadl &1 Ushaad =y fafau|

L. dfed

2. Ufareft
3. dfdei

4. Y

Correct Option - 1

Que. 55 AT Xeq & IH B! g TSI PO

1. Qg
2. fEEr
3. g
4. gy

Correct Option - 1

Que. 56 I T Veg, YT 82

L gy
2. Tied
3. d9e
4. H&dt

Correct Option - 2

Que.57 U + T &I TR T gt

l. Tpd
2. Thed
3. Uhd
4. I[P

Correct Option - 2

Que. 58 Ty forg &1 Ifad U fvy areg # 78t g3 &2

l. o798 9 TRERT &1 &2
2. ugferaefraaier
3. HAG Pl IS FATSA?

4. TG PHEITATG?
Correct Option - 3

Que. 59 HIfrd AH Y BTH HIAdI ¢ 17 a1 A foba1 & f6g We T gdT Iaidl 22
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1. e febar
2. RO fobam
3. Wy v
4. gdeiiere foba

Correct Option - 2

Que. 60 "qg Ueh 3T B ¢ |" AT H T3 &I UG gy

L Yy

2. fgdagsy
3. ALHYRY
4. ITHIRY

Correct Option - 1
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